$ “

< >

D - INSTRUCTIONS
%, T & Teep IT- sasE Temeiare

6’. °
‘op fop e\@\

Thank you for purchasing your Jeep JT BASE Template from AAL! We greatly appreciate your trust in our
company. We take that purchase and your commitment to us very seriously. If you have any questions along
the way, please don’t hesitate to give us a call at 385.202.4188.

Step 1 - Lay Out All Components (What's Included)

Components Included:

e (x4) #1 steel nut plates
(x6) #2 steel nut plates
(x2) #3 steel nut plates
(x4) Rectangle steel template plates
(x1) Rectangle steel template plate
(x2) Long Steel Runners

e (x2) Shorter Steel Runners
Hardware Included:

e (x64) M6x14 button head bolts

e (x60) Washers
Additional Materials We Recommend:

e 3M Double Sided Tape

~— N N N N

Step 2 - Assemble the Jeep JT BASE Template

Using the provided hardware you will assemble the template before you do anything else. Using 3 washers
and 1 M6 Button Head Bolt you’ll space out the rails so that the long runners sit at the bottom of the ridges in
your JT. The 2 longer rails will go on the inside and the shorter rails will go on the outside. Once that is done
the “Rectangle” supports will sit above the platform as shown in the following images.

Note: The threaded holes are the only ones that receive the bolts to hold the template together.
Also please note that you DO NOT have to drill out every single hole. It really depends on what drawers/fridge
slides you’ll be using or if you just want them as extra tie down points.






it

e







NOTE: When placing the template on the bed make sure that the outside rails are sitting roughly '&”
from the flange. Also to make sure the template doesn’t move while you are drilling, drill the first 4
holes in the rear and place a bolt in them to secure them to their location.




Y
i







T4

WY i

A e
=% .,.-ua«u




Step 3 - Prep for the steel nut plates.

To do this we lay them out on top of the bed to get a better understanding of where everything goes. Each
plate is numbered to help identify where they will sit underneath your bed.

V/ __ N

nBSTIESS S e

S




To place the 2 middle #1 nut plates you'll need to remove your spare tire for the install. You can put that spare
tire back after the install.

For the front 2 #2 nut plates you'll need to go in from the sides of the wheel wells to make it easier on yourself.
If not there are some brackets underneath that are sometimes difficult to deal with.

Step 4 - Grab a friend (Installing the Steel Nut Plates)

When installing these steel nut plates you will need to have a friend up on top to install the bolts while you're

down below holding up the steel nut plates. It's easiest when you put in the bolts first so the one underneath

can locate them easier. You only need to do the first and last hole on each plate to hold it up. The other holes
will be used to mount your drawers and fridge slides.

We recommend using blue loctite on all fasteners to make sure they don’t rattle loose on the trails.

To make it easier we recommend getting some double sided 3M tape to put in the middle to help hold up the

pieces.

Below are some examples of where the nut plates will be installed.

: y@@n’@] dinofp the bl 1
Polate?

ﬂﬁ )
ﬂf&@,@@ﬁﬂ Iunﬁ@nt}




Tﬁg@ = Use M douhlo
sidedita llpo fim fﬂh]@
mldllo ﬂ@ ﬂii

@zmﬂyin -
. first and last bolt
ﬁ@l}noldﬂﬁuﬂpand
uﬂm@mﬂ@]@nﬂﬂ@
{F@[r@]

@C.










i Ay e IR

\
)










Step 5 - Show Off Your Handy Work (Every Last Step Should be

This)
Thank you again for purchasing your JT BASE System from AAL. We greatly appreciate your support.

Please let us know what you think about the product and installation process. Also, if you have any feedback
for us on our product, instructions or anything else please let us know at sales@americanadventurelab.com as
we are striving to be better in every aspect!

If you are so inclined, please share your installation photos with us online:

e Facebook - https://www.facebook.com/AmericanAdventurel ab
e Instagram - https://instagram.com/americanadventurelab



https://www.facebook.com/AmericanAdventureLab
https://instagram.com/americanadventurelab

	INSTRUCTIONS 

